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MNPOZAHWH NMPOZQMIKOY ME ZYMBAZH OPIZMENOY XPONOY
MNINAKAZ KATATAZHZ & BAOMOAOTIAZ
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P w 5 g s
" g [ w < g g |= - T e_- |3
& 5 |2 Fx g s |2 8 : 83 |¢&
E= £ [z |u i = |3 | = X L -
W S Elz |3 |& S |s sl 21 2| s |25 |2 g "
o % < |3 g 3 2 |2 <£| E B : ud s - b <
o o . 2 X o W B E W Z OQu [z ¥ = v Q] =s |6 7 = o)
= < Elss5| 5| 2|8 |zg|Ys|cs| &5 (223 |85| &8 | 2 1| 32 |25% & 2
= < S|sc|2| 5|2 |8%|88 2| E |e2(®3| ¢ | 2| 5 |82 (88¢%|y |9 |9 |ow |9 |8 |8 |8 |9 |9 |9 2 5
Z o cleg |y 2 = |z€|(9s| g& T i< 3 W g gs |Fszlds|dal3=|35135]35] 3 < < < a._ ) 5
G z <lzx|2 |5 T |8s|9:s| k5| 5 |Esc |25 & g £ 58 ;N8| s2|s2(sE (28|22 |28| se (sE|se(se (st S x
= o = | <y | E S |t |E| =% 2 |Zx[s8| n E 5 0z |lung|a~|a~ |8 ) ] ] S ] ] 3 - 2 o
w ] | & z |2 w Wo | € |wo|z5| B = 5 EC |z Z|= H H H & & H s s s = 5 =3
Z < 9 w e < w < <3 H] 8 < <4 e = e W
o = o w = < L= = a 5} o = X |< 5
z g |2 5 Z w ke N g i s |z 2
3 < o z S o 5 = = c3 |E
i E 1% |8 |8 | § |8 18| E° 3
x w
x :é = <
() [(1B) [ (2) [ (3) | (4 [ (5) | (6) | (7) | (8) (9) | (10)
| Bl PG N*** Axxxx= QX[ OXI 1 15 0 OXlI OXI OXI 2 18,00 OXI 0 OXI OXl 860 100 360,00 1.320,00 1
E******* A******* I**** A******
* OXIl OXI 1 7 0 NAI  OXI OXI 2 19,60 OKXI 0 OXI NAI 380 300 100 392,00 130 1.302,00 2
D2k [\ Gl [rrxx Arxxre QX OXI 1 5 0 OXl OXlI OXl 0 11,80 OXI 0 OXI OXI 260 236,00 496,00 3
B el I [rxx Axx OX| - OXI 1 0 0 OXl OXlI OXl 0 15,20 OXI 0 OXI OXI 304,00 304,00 4

1 amé 1



